

			Vendor I	Ranking				Page 1 of 1	
Letting:	05211207	December 07, 2021 2:00 PM	A Call Order	: 005		Contract:	E5V57-R0		
District:	District 5		Counties:		RD, DIST/ST-	Fed Aid No: N/A			
Contract Time:					FLAGLER, LAKE, N, ORANGE,	Project(s):	42795717224	· (*)	
Contract Desc:	Signal Repai	r		OSCEO	R, VOLUSIA				
Rank	,	Vendor	Bic	і Туре	Bid Status	٦	Total Bid	Percent Of Low Bid	
1 TRAFFIC (CONTROL DE	VICES, LLC	Res	ponsive	Winning bid	:	\$4,057,481.00	100.00%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids Page 1 of 30 05211207 Letting: Contract: E5V57-R0 December 07, 2021 Call Order: 005 District: District 5 Fed Aid No: N/A Counties: BREVARD. DIST/ST-WIDE, FLAGLER, LAKE, Contract Time: 730 CALENDAR DAYS Project(s): 42795717224 (*) MARION, ORANGE, Contract Descr: Signal Repair OSCEOLA. SEMINOLE. FDOT District 5 SUMTER, VOLUSIA Proposal ID No.: E5V57 Financial Project No.: 427957-1-72-24 Fiscal Year: 2022 Counties: Districtwide (Volusia, Flagler, Brevard, Orange, Osceola, Lake, Marion, Sumter, Seminole) Contract Calendar Days: 730 This is a Maintenance Work Document driven Contract with a budgetary ceiling of \$500,000,00. This Contract has an option of one renewal of twelve months. Intent: The work under this Contract includes traffic operational and safety improvements. The improvements include, but are not limited to, installation, repair, and/or modification of traffic signalized intersections, signing and payement markings. minor concrete improvements, and pedestrian feature installations (I.e.: ADA curb ramps and crosswalks, standard and accessible pedestrian button installations, midblock crossings, RRFBs, PHBs, etc.). Experience: For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of Traffic Signal Repair, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of pregualification with the Department in "Traffic Signal" will suffice to meet the above requirements. Note: The guantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum guantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder: however, actual payment under the awarded contract will be based on actual guantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work. Line No / Item ID (1) TRAFFIC CONTROL Alternate Quantity **DEVICES, LLC** Item Description Units () indicates item is bid as Lump Sum Unit Price Ext Amount **Unit Price** Ext Amount Unit Price **Ext Amount** SECTION: 0001 (TRAFFIC CONTROL (MH 13.200.00 0005 0102 14 150.000 88.00000 TRAFFIC CONTROL OFFICER HR



Tabulation of Bids

Page 2 of 30

Letting: 05211207 De	ecember 07,	2021 Ca l	I Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (1	RAFFIC CON	TROL (MH					
0010 0102 60 WORK ZONE SIGN	1,500.000 ED	0.85000	1,275.00				
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, VP, DRUM, OR LCD	3,000.000 DI, ED	0.50000	1,500.00				
0020 0102 74 8 CHANNELIZING DEVICE- PEDESTRIA LCD (LONGITUDINAL CHANNELIZING DEVICE)		0.50000	500.00				
0025 0102 76 ARROW BOARD / ADVANCE WARNIN ARROW PANEL	50.000 G ED	29.00000	1,450.00				
0030 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	50.000 ED	38.50000	1,925.00				
0035 0102115 TYPE III BARRICADE	20.000 ED	0.95000	19.00				
0040 0102150 1 PORTABLE REGULATORY, SIGN	10.000 ED	29.00000	290.00				
0045 0102150 2 RADAR SPEED DISPLAY UNIT	10.000 ED	29.00000	290.00				



Tabulation of Bids

Page 3 of 30

Letting: 05211207 De	ecember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (7	FRAFFIC CON	ITROL (MH					
0050 0104 18 INLET PROTECTION SYSTEM	10.000 EA	230.00000	2,300.00				
0055 0527 2 DETECTABLE WARNINGS	400.000 SF	29.50000	11,800.00				
0060 0570 1 2 PERFORMANCE TURF, SOD	200.000 SY	30.00000	6,000.00				
0065 0630 2 11 CONDUIT, FURNISH & INSTALL, OPE TRENCH	1,000.000 N LF	15.50000	15,500.00				
0070 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	1,000.000 LF	21.00000	21,000.00				
0075 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND	1,000.000 LF	42.00000	42,000.00				
0080 0632 7 1 SIGNAL CABLE- NEW OR RECONSTRUCTED INTERSECTION, FURNISH & INSTALL	5.000 Pl	8,853.15000	44,265.75				
0085 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH INSTALL	1,000.000 LF &	6.60000	6,600.00				



Tabulation of Bids

Page 4 of 30

Letting: 05	211207 De	cember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (T	RAFFIC CON	ITROL (MH					
0090 0632 7 6 SIGNAL CABLE, REM INTERSECTION	OVE-	5.000 Pl	1,337.00000	6,685.00				
0095 0633 1111 FIBER OPTIC CABLE, 2-12 FIBERS	F&I, OVERHEAD	1,000.000), LF	2.70000	2,700.00				
0100 0633 1112 FIBER OPTIC CABLE, OVERHEAD,13-48 FIB		1,000.000 LF	2.95000	2,950.00				
0105 0633 1121 FIBER OPTIC CABLE, UNDERGROUND,2-12		1,000.000 LF	2.85000	2,850.00				
0110 0633 1122 FIBER OPTIC CABLE, UNDERGROUND,13-4		1,000.000 LF	3.10000	3,100.00				
0115 0633 1610 FIBER OPTIC CABLE, OVERHEAD	REMOVE,	1,000.000 LF	0.95000	950.00				
0120 0633 1620 FIBER OPTIC CABLE, UNDERGROUND	REMOVE,	1,000.000 LF	0.80000	800.00				
0125 0633 2 31 FIBER OPTIC CONNE SPLICE	CTION, INSTALL	10.000 , EA	44.00000	440.00				
0130 0633 2 32 FIBER OPTIC CONNE TERMINATION	CTION, INSTALL	10.000 , EA	94.50000	945.00				



Tabulation of Bids

Page 5 of 30

Letting: 05211207 De	cember 07, 2	2021 Cal	I Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (T	RAFFIC CON	TROL (MH					
0135 0633 3 11 FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE ENCLOSURI	4.000 EA E	988.00000	3,952.00				
0140 0633 3 12 FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE TRAY	4.000 EA	63.00000	252.00				
0145 0633 3 13 FIBER OPTIC CONNECTION HARDWARE, F&I, PRETERMINATED CONNECTOR ASSEMBLY	4.000 EA	56.50000	226.00				
0150 0633 3 15 FIBER OPTIC CONNECTION HARDWARE, F&I, PRETERMINATED PATCH PANEL	4.000 EA	1,756.00000	7,024.00				
0155 0633 3 16 FIBER OPTIC CONNECTION HARDWARE, F&I, PATCH PANEL- FIEL TERMINATED	4.000 EA .D	2,140.00000	8,560.00				
0160 0633 3 17 FIBER OPTIC CONNECTION HARDWARE, F&I, CONNECTOR PANE	4.000 EA L	120.00000	480.00				
0165 0633 3 51 FIBER OPTIC CONNECTION HARDWARE, ADJUST/MODIFY SPLICE ENCLOSURE	4.000 EA	623.00000	2,492.00				
0170 0633 8 1 MULTI-CONDUCTOR COMMUNICATIO CABLE, FURNISH & INSTALL	1,000.000 N LF	6.60000	6,600.00				



Tabulation of Bids

Page 6 of 30

Letting: 05211207	December 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alterna	te Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0175 0633 8 3 MULTI-CONDUCTOR COMMUNIC CABLE, INSTALL	500.000 ATION LF	6.10000	3,050.00				
0180 0633 8 4 MULTI-CONDUCTOR COMMUNIC CABLE, RELOCATE	1,000.000 ATION LF	6.60000	6,600.00				
0185 0634 4152 SPAN WIRE ASSEMBLY, F&I, TWO POINT, DIAGONAL	10.000 D PI	4,752.00000	47,520.00				
0190 0634 4153 SPAN WIRE ASSEMBLY, F&I, TWO POINT, BOX OR DROP BOX	10.000 D PI	9,249.00000	92,490.00				
0195 0634 4600 SPAN WIRE ASSEMBLY, REMOVE POLES REMAIN	10.000 E- PI	1,069.00000	10,690.00				
0200 0634 5 1 FIBERGLASS INSULATOR, FURNI INSTALL	1,000.000 SH & LF	51.50000	51,500.00				
0205 0634 6 1 MESSENGER WIRE, FURNISH & INSTALL- REPLACE EXISTING	1,000.000 LF	3.70000	3,700.00				
0210 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24 COVER SIZE	10.000 "EA	884.00000	8,840.00				
0215 0635 2 12 PULL & SPLICE BOX, F&I, 24" X 36 COVER SIZE	10.000 6" EA	1,739.00000	17,390.00				



Tabulation of Bids

Page 7 of 30

Letting:	05211207	December 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / It Item Descr		ate Quantity Units	(1) TRAFFIC DEVICE					
() indicates i	tem is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(TRAFFIC CON	ITROL (MH					
	2 13 E BOX, F&I, 30" X 6 R OR 36" ROUND		3,555.00000	35,550.00				
OVERHEAD M	1112 POWER SERVICE, F ETER PURCHASEE R FROM POWER		3,606.00000	36,060.00				
	POWER SERVICE, I ND, METER PURCH		2,971.00000	29,710.00				
0235 0639 ELECTRICAL & INSTALL	2 1 SERVICE WIRE, FU	1,000.000 RNISH LF	5.35000	5,350.00				
0240 0639 ELECTRICAL F&I, POLE MO	SERVICE DISCONN	4.000 IECT, EA	1,100.00000	4,400.00				
	3 60 SERVICE DISCONN LE OR CABINET TO		489.00000	1,956.00				
0250 0641 GUYING EXIS POLE	1 1 TING CONCRETE S	5.000 TRAIN EA	858.00000	4,290.00				
0255 0641 PRESTRESSE TYPE P-II SER	D CONCRETE POL	4.000 E, F&I, EA	1,722.00000	6,888.00				



Tabulation of Bids

Page 8 of 30

Letting: 05211207 Dec	ember 07,	2021 Ca l	I Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TF		ITROL (MH					
0260 0641 2 16 PRESTRESSED CONCRETE POLE, F&I TYPE P-VI	4.000 , EA	11,243.00000	44,972.00				
0265 0641 2 17 PRESTRESSED CONCRETE POLE, F&I TYPE P-VII	4.000 , EA	11,483.00000	45,932.00				
0270 0641 2 18 PRESTRESSED CONCRETE POLE, F&I TYPE P-VIII	4.000 , EA	11,796.00000	47,184.00				
0275 0641 2 60 PRESTRESSED CONCRETE POLE, COMPLETE POLE REMOVAL- PEDESTAL/SERVICE POLE	4.000 EA	1,005.00000	4,020.00				
0280 0641 2 70 PRESTRESSED CONCRETE POLE, SHALLOW POLE REMOVAL- POLE 30' AND GREATER	4.000 EA	4,224.00000	16,896.00				
0285 0641 2 80 PRESTRESSED CONCRETE POLE, COMPLETE POLE REMOVAL- POLE 30 AND GREATER	4.000 EA	5,284.00000	21,136.00				
0290 0646 1 11 ALUMINUM SIGNALS POLE, PEDESTAI	20.000 EA	2,192.00000	43,840.00				
0295 0646 1 12 ALUMINUM SIGNALS POLE, FURNISH & INSTALL PEDESTRIAN DETECTOR POST	40.000 & EA	1,712.00000	68,480.00				



Tabulation of Bids

Page 9 of 30

Letting: 0	5211207 D	ecember 07, 2	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 ("	TRAFFIC CON	ITROL (MH					
0300 0646 1 60 ALUMINUM SIGNALS	S POLE, REMOVE	20.000 E EA	267.00000	5,340.00				
0305 0649 26 1 STEEL MAST ARM A REMOVE, POLE ONL FOUNDATION REMA	Y- ENTIRE	1.000 EA	2,090.00000	2,090.00				
0310 0649 26 3 STEEL MAST ARM A REMOVE, SHALLOW BOLT ON ATTACHMI	FOUNDATION-	1.000 EA	2,628.00000	2,628.00				
0315 0649 26 5 STEEL MAST ARM A REMOVE, DEEP FOU ON ATTACHMENT		1.000 EA	4,748.00000	4,748.00				
0320 0649 26 7 STEEL MAST ARM A REMOVE, REMOVE A ATTACHMENTS; POI	ARM AND	1.000 EA	1,568.00000	1,568.00				
0325 0650 1 11 VEHICULAR TRAFFIC FURNISH & INSTALL SECTION, 1 WAY		15.000 AS	1,036.00000	15,540.00				
0330 0650 1 12 VEHICULAR TRAFFIC FURNISH & INSTALL SECTION, 2-4 WAY		15.000 AS	2,417.00000	36,255.00				



Tabulation of Bids

Page 10 of 30

Letting:	05211207	December 07,	2021 Ca l	I Order: 005		Contract:	E5V57-R0	
Line No / I Item Desc		te Quantity Units	(1) TRAFFIC DEVICE					
() indicates	item is bid as Lump Sum	,	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(TRAFFIC CON	ITROL (MH					
VEHICULAR 1) 1 14 TRAFFIC SIGNAL, NSTALL ALUMINUM, VAY	15.000 AS 3	1,335.00000	20,025.00				
VEHICULAR 1) 1 15 TRAFFIC SIGNAL, NSTALL ALUMINUM, WAYS	15.000 AS 3	2,262.00000	33,930.00				
VEHICULAR 1) 1 16 TRAFFIC SIGNAL, NSTALL ALUMINUM, VAY	15.000 AS 4	1,567.00000	23,505.00				
VEHICULAR 1) 1 17 TRAFFIC SIGNAL, NSTALL ALUMINUM, WAYS	15.000 AS 4	2,745.00000	41,175.00				
VEHICULAR T FURNISH & IN) 1 19 TRAFFIC SIGNAL, NSTALL ALUMINUM, JSTER, 1 WAY	10.000 AS 5	2,067.00000	20,670.00				
VEHICULAR T FURNISH & IN) 1 24 TRAFFIC SIGNAL, NSTALL POLYCARBC 9, 3 SECTION, 1 WAY		1,415.00000	21,225.00				
VEHICULAR 1 FURNISH & IN) 1 25 TRAFFIC SIGNAL, NSTALL POLYCARBC NUM TOP SECTION, 3 WAYS		2,262.00000	33,930.00				



Tabulation of Bids

Page 11 of 30

Letting:	05211207	December 07, 2	2021 Cal	l Order: 005		Contract:	E5V57-R0	
Line No / Ite Item Descri		ate Quantity Units	(1) TRAFFIC DEVICE					
() indicates it	em is bid as Lump Su	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(TRAFFIC CON	TROL (MH					
FURNISH & INS	1 26 AFFIC SIGNAL, STALL POLYCARB 4 SECTION, 1 WA	-	1,567.00000	23,505.00				
FURNISH & INS	1 29 AFFIC SIGNAL, TALL POLYCARB ECTION CLUSTEF		2,010.00000	30,150.00				
	AFFIC SIGNAL, STALL POLYCARB	15.000 AS ONATE,	1,415.00000	21,225.00				
	AFFIC SIGNAL, STALL POLYCARB	15.000 AS ONATE,	2,262.00000	33,930.00				
	AFFIC SIGNAL, STALL POLYCARB	15.000 AS ONATE,	1,567.00000	23,505.00				
	AFFIC SIGNAL, STALL POLYCARB	15.000 AS ONATE,	2,010.00000	30,150.00				
0400 0650 VEHICULAR TF	1 50 AFFIC SIGNAL, IN	15.000 ISTALL AS	535.00000	8,025.00				



Tabulation of Bids

Page 12 of 30

Letting:	05211207	December 07, 2	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item II Item Description		Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	(TRAFFIC CON	TROL (MH					
0405 0650 1 60 VEHICULAR TRAFF REMOVE- POLES T		15.000 AS	89.00000	1,335.00				
0410 0650 1 70		15.000	855.00000	12,825.00				
VEHICULAR TRAFF RELOCATE- INCLU REINSTALLATION		AS AND						
0415 0650 2102 VEHICULAR SIGNA REPAIR/REPLACE/ & INSTALL, BACKP REFLECT BORDER	L AUXILIARIES, RETROFIT- FURI LATE- BLACK WI		647.00000	9,705.00				
0420 0650 2109 VEHICULAR SIGNA REPAIR/REPLACE/ & INSTALL, BACKP REQUIRED	L AUXILIARIES, RETROFIT- FURI		424.00000	6,360.00				
0425 0653 1 11 PEDESTRIAN SIGN INSTALL LED COUI		15.000 AS Y	791.00000	11,865.00				
0430 0653 1 12 PEDESTRIAN SIGN INSTALL LED COUI		15.000 AS YS	1,083.00000	16,245.00				
0435 0653 1 60 PEDESTRIAN SIGN SIGNAL- POLE/PED			89.00000	1,335.00				



Tabulation of Bids

Page 13 of 30

Letting: 05211207 Dece	ember 07, 1	2021 Cal	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRA	AFFIC CON	ITROL (MH					
0440 0654 2 11 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL- AC, COMPLETE SIGN ASSEMBLY- SINGLE DIRECTION	10.000 AS	7,295.00000	72,950.00				
0445 0654 2 17 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH/INSTALL- AC, SIGN ASSY- SINGLE DIR ACCESSIBLE DETECTOR	10.000 AS	7,891.00000	78,910.00				
0450 0654 2 18 MIDBLOCK CROSSWALK: REC RAPID FLASHING BEACON, FURNISH/INSTALL AC, SIGN ASSEMBLY- BACK-BACK ACCESSIBLE DETECTOR	10.000 AS	10,265.00000	102,650.00				
0455 0654 2 21 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL- SOLAR, COMPLETE SIGN ASSY- SINGLE DIRECTION	10.000 AS	8,211.00000	82,110.00				
0460 0654 2 27 MIDBLOCK CROSSWALK: REC RAPID FLASHING BEACON, FURNISH/INSTALL SOLAR, SIGN ASSEMBLY- SINGLE DIR ACCESSIBLE DETECTOR	10.000 AS	8,451.00000	84,510.00				



Tabulation of Bids

Page 14 of 30

Letting: 05211207 Dece	ember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate (Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRA	AFFIC CON	ITROL (MH					
0465 0654 2 28 MIDBLOCK CROSSWALK: REC RAPID FLASHING BEACON, FURNISH/INSTALL- SOLAR, SIGN ASSEMBLY- BACK-BACK ACCESSIBLE DETECTOR	10.000 AS	10,265.00000	102,650.00				
0470 0654 2 30 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, INSTALL COMPLETE SIGN ASSEMBLY	10.000 AS	3,159.00000	31,590.00				
0475 0654 2 40 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, RELOCATE COMPLETE SIGN ASSEMBLY	10.000 AS	3,515.00000	35,150.00				
0480 0654 2 50 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, ADJUST/MODIFY	10.000 AS	891.00000	8,910.00				
0485 0654 2 60 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, REMOVE COMPLETE SIGN ASSEMBLY	10.000 AS	869.00000	8,690.00				
0490 0654 3 10 MIDBLOCK CROSSWALK: PEDESTRIAN HYBRID BEACON ASSEMBLY, FURNISH & INSTALL COMPLETE ASSEMBLY		5,945.00000	59,450.00				
0495 0654 3 60 MIDBLOCK CROSSWALK: PEDESTRIAN HYBRID BEACON ASSEMBLY, REMOVE	10.000 AS	869.00000	8,690.00				



Tabulation of Bids

Page 15 of 30

Letting:	05211207	December 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / I Item Desc		e Quantity Units	(1) TRAFFIC DEVICE					
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(TRAFFIC CON	ITROL (MH					
	1109 TOR INDUCTIVE, F&I	20.000 , EA	407.00000	8,140.00				
	1110 TOR INDUCTIVE, F&I	20.000 , EA	407.00000	8,140.00				
	2102 BLY, F&I, TYPE B	20.000 AS	1,343.00000	26,860.00				
	2106 BLY, F&I, TYPE F	20.000 AS	1,362.00000	27,240.00				
	ECTION SYSTEM- FURNISH & INSTALL	5.000 EA	8,065.00000	40,325.00				
VEHICLE DET MICROWAVE	3 12 ECTION SYSTEM- FURNISH & INSTALL IND EQUIPMENT	5.000 EA	8,057.00000	40,285.00				
MICROWAVE	3 31 ECTION SYSTEM- INSTALL- FDOT CABINET EQUIPMENT	5.000 EA	1,305.00000	6,525.00				
VEHICLE DET	3 32 ECTION SYSTEM- INSTALL- FDOT ABOVE GROUND	5.000 EA	630.00000	3,150.00				



Tabulation of Bids

Page 16 of 30

Letting: 05211207	December 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	e Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0540 0660 4 11 VEHICLE DETECTION SYSTEM- VII FURNISH & INSTALL CABINET EQUIPMENT	5.000 DEO, EA	17,371.00000	86,855.00				
0545 0660 4 12 VEHICLE DETECTION SYSTEM- VII FURNISH & INSTALL ABOVE GROU EQUIPMENT		4,707.00000	23,535.00				
0550 0660 4 42 VEHICLE DETECTION SYSTEM- VII RELOCATE ABOVE GROUND EQUIPMENT	5.000 DEO, EA	1,523.00000	7,615.00				
0555 0663 1111 SIGNAL PRIORITY AND PREEMPTI SYSTEM, F&I, OPTICAL, CABINET ELECTRONICS	5.000 ON EA	6,729.00000	33,645.00				
0560 0663 1112 SIGNAL PRIORITY AND PREEMPTI SYSTEM, F&I, OPTICAL, DETECTO		2,111.00000	10,555.00				
0565 0663 1121 SIGNAL PRIORITY AND PREEMPTI SYSTEM, FURNISH AND INSTALL, REPLACE CABINET ELECTRONICS	GPS,	8,250.00000	41,250.00				
0570 0663 1122 SIGNAL PRIORITY AND PREEMPTI SYSTEM, FURNISH AND INSTALL, DETECTOR	-	5,870.00000	29,350.00				
0575 0663 1400 SIGNAL PRIORITY & PREEMPTION SYSTEM, RELOCATE	5.000 EA	1,817.00000	9,085.00				



Tabulation of Bids

Page 17 of 30

Letting: 05211207	December 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate	e Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0580 0665 1 11 PEDESTRIAN DETECTOR, FURNIS INSTALL, STANDARD	30.000 H & EA	291.00000	8,730.00				
0585 0665 1 12 PEDESTRIAN DETECTOR, FURNIS INSTALL, ACCESSIBLE	30.000 H & EA	818.00000	24,540.00				
0590 0665 1 60 PEDESTRIAN DETECTOR, REMOV POLE/PEDESTAL TO REMAIN	15.000 E- EA	44.50000	667.50				
0595 0670 4 1 INTERSECTION CONTROL BEACO CONTROLLER ASSEMBLY, FURNIS INSTALL		3,171.00000	15,855.00				
0600 0670 5110 TRAFFIC CONTROLLER ASSEMBL F&I, NEMA	2.000 Y, AS	40,497.00000	80,994.00				
0605 0670 5111 TRAFFIC CONTROLLER ASSEMBL F&I, NEMA, 1 PREEMPTION	2.000 Y, AS	33,228.00000	66,456.00				
0610 0670 5112 TRAFFIC CONTROLLER ASSEMBL F&I, NEMA, 2 PREEMPTION	2.000 Y, AS	28,858.00000	57,716.00				
0615 0670 5140 TRAFFIC CONTROLLER ASSEMBL FURNISH & INSTALL MODEL 2070	5.000 Y, AS	40,497.00000	202,485.00				



Tabulation of Bids

Page 18 of 30

Letting: 05211207 De	ecember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (T	RAFFIC CON	ITROL (MH					
0620 0670 5141 TRAFFIC CONTROLLER ASSEMBLY, FURNISH & INSTALL, MODEL 2070, 1 PREEMPTION	5.000 AS	30,321.00000	151,605.00				
0625 0670 5300 TRAFFIC CONTROLLER ASSEMBLY, INSTALL	2.000 AS	4,143.00000	8,286.00				
0630 0670 5400 TRAFFIC CONTROLLER ASSEMBLY, MODIFY	2.000 AS	4,263.00000	8,526.00				
0635 0670 5500 TRAFFIC CONTROLLER ASSEMBLY, RELOCATE CONTROLLER WITH CABINET	2.000 AS	3,857.00000	7,714.00				
0640 0670 5600 TRAFFIC CONTROLLER ASSEMBLY, REMOVE CONTROLLER WITH CABINE	10.000 AS ET	1,267.00000	12,670.00				
0645 0670 5700 TRAFFIC CONTROLLER ASSEMBLY, RESTORE- MINOR REPAIRS	2.000 AS	904.00000	1,808.00				
0650 0678 1107 CONTROLLER ACCESSORIES, REPLACE EXISTING- FURNISH AND INSTALL, TYPE 1 TIME SWITCH	5.000 EA	3,644.00000	18,220.00				
0655 0684 1 1 MANAGED FIELD ETHERNET SWITCH FURNISH & INSTALL	2.000 I, EA	3,283.00000	6,566.00				



Tabulation of Bids

Page 19 of 30

Letting: 0	5211207 De	cember 07, 2	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (T	RAFFIC CON	TROL (MH					
0660 0685 1 13 UNINTERRUPTIBLE F FURNISH AND INSTA INTERACTIVE WITH	LL, LINE	5.000 EA	10,324.00000	51,620.00				
0665 0685 1 14 UNINTERRUPTIBLE F FURNISH AND INSTA ONLINE/DOUBLE CO CABINET	LL,	5.000 EA	4,117.00000	20,585.00				
0670 0695 1 1 TRAFFIC MONITORIN SENSOR-NON-WEIG INSTALL		2.000 EA	1,966.00000	3,932.00				
0675 0695 6 12 TRAFFIC MONITORIN INDUCTIVE LOOP AS & INSTALL, 2 LOOPS		2.000 EA SH	1,792.00000	3,584.00				
0680 0695 7132 TRAFFIC MONITORIN FURNISH & INSTALL PEDESTAL MOUNT		2.000 , EA	5,362.00000	10,724.00				
0685 0695 7162 TRAFFIC MONITORIN F&I, TYPE 3, 2 PANE MOUNT			4,980.00000	9,960.00				
0690 0695 7600 TRAFFIC MONITORIN REMOVE EXISTING (2.000 , EA	870.00000	1,740.00				



Tabulation of Bids

Page 20 of 30

Letting: 052	11207 Dec	ember 07, 2	2021 Cal	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0)001 (TR	AFFIC CON	TROL (MH					
0695 0695 8 11 TRAFFIC MONITORING COMMUNICATIONS MC INSTALL		2.000 EA &	1,233.00000	2,466.00				
0700 0700 1 11 SINGLE POST SIGN, F& MOUNT, UP TO 12 SF	I GROUND	50.000 AS	2,269.00000	113,450.00				
0705 0700 1 12 SINGLE POST SIGN, F& MOUNT, 12-20 SF	I GROUND	10.000 AS	3,840.00000	38,400.00				
0710 0700 1 21 SINGLE POST SIGN, F& MOUNT INDEX 11871/7 SF		5.000 AS 2	5,318.00000	26,590.00				
0715 0700 1 50 SINGLE POST SIGN, RE	ELOCATE	10.000 AS	1,037.00000	10,370.00				
0720 0700 1 60 SINGLE POST SIGN, RE	EMOVE	50.000 AS	232.00000	11,600.00				
0725 0700 2 50 MULTI- POST SIGN, GR RELOCATE	OUND MOUNT,	2.000 AS	6,722.00000	13,444.00				
0730 0700 2 60 MULTI- POST SIGN, RE	MOVE	2.000 AS	1,289.00000	2,578.00				



Tabulation of Bids

Page 21 of 30

Letting: 052	11207 D	ecember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001 (TRAFFIC CON	ITROL (MH					
0735 0700 3101 SIGN PANEL, FURNISH GROUND MOUNT, UP T		10.000 EA	403.00000	4,030.00				
0740 0700 3102 SIGN PANEL, FURNISH GROUND MOUNT, 12-20		2.000 EA	805.00000	1,610.00				
0745 0700 3201 SIGN PANEL, FURNISH OVERHEAD MOUNT, UF		2.000 EA	689.00000	1,378.00				
0750 0700 3202 SIGN PANEL, FURNISH OVERHEAD MOUNT, 12		2.000 EA	1,389.00000	2,778.00				
0755 0700 3203 SIGN PANEL, FURNISH OVERHEAD MOUNT, 21		10.000 EA	1,769.00000	17,690.00				
0760 0700 3501 SIGN PANEL, RELOCAT	E, UP TO 12	2.000 SF EA	313.00000	626.00				
0765 0700 3502 SIGN PANEL, RELOCAT	E, 12-20 SF	10.000 EA	402.00000	4,020.00				
0770 0700 3601 SIGN PANEL, REMOVE,	UP TO 12 SF	2.000 EA	134.00000	268.00				
0775 0700 3602 SIGN PANEL, REMOVE,	12-20 SF	2.000 EA	179.00000	358.00				



Tabulation of Bids

Page 22 of 30

Letting: 052112	207 De	cember 07, 2	2021 Cal	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lu	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1 (ТІ	RAFFIC CON	TROL (MH					
0780 0700 3603 SIGN PANEL, REMOVE, 21	-30 SF	2.000 EA	268.00000	536.00				
0785 0700 5 21 INTERNALLY ILLUMINATEI FURNISH & INSTALL OVEF MOUNT, UP TO 12 SF		10.000 EA	5,741.00000	57,410.00				
0790 0700 5 22 INTERNALLY ILLUMINATEI FURNISH & INSTALL, OVE MOUNT, 12-18 SF		10.000 EA	6,119.00000	61,190.00				
0795 0700 5 50 INTERNALLY ILLUMINATEI RELOCATE	D SIGN,	5.000 EA	987.00000	4,935.00				
0800 0700 5 60 INTERNALLY ILLUMINATEI REMOVE	D SIGN,	5.000 EA	267.00000	1,335.00				
0805 0700 6 11 HIGHLIGHTED SIGN, F&I G MOUNT- AC POWERED, U		5.000 AS	9,727.00000	48,635.00				
0810 0700 6 21 HIGHLIGHTED SIGN, F&I G MOUNT- SOLAR POWEREI SF		5.000 AS	10,195.00000	50,975.00				
0815 0700 11131 ELECTRONIC DISPLAY SIG & INSTALL GROUND MOUI POWERED, SPEED FEEDE UP TO 12 SF	NT- AC	1.000 H AS	10,533.00000	10,533.00				



Tabulation of Bids

Page 23 of 30

Letting: 05211207 D	ecember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CON	ITROL (MH					
0820 0700 11132 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- AC POWERED, SPEED FEEDBACK SIGN 12-20 SF		12,800.00000	12,800.00				
0825 0700 11161 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- AC POWERED, SPEED FEEDBACK W/FLASHING BEACON, UP TO 12 SF	1.000 SH AS	13,621.00000	13,621.00				
0830 0700 11162 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- AC POWERED, SPEED FEEDBACK W/FLASHING BEACON, 12-20 SF	1.000 SH AS	12,385.00000	12,385.00				
0835 0700 11231 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- SOLAF POWER, SPEED FEEDBACK, UP TO SF	R	12,947.00000	12,947.00				
0840 0700 11232 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- SOLAF POWER, SPEED FEEDBACK, 12-20 S	R	14,611.00000	14,611.00				
0845 0700 11241 ELECTRONIC DISPLAY SIGN, FURNI & INSTALL GROUND MOUNT- SOLAF POWER, ELECT WARNING W/FLASH BEACON, UP TO 12 SF	R	12,742.00000	12,742.00				



Tabulation of Bids

Page 24 of 30

Letting: 05211207 De	ecember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (7	TRAFFIC CON	TROL (MH					
0850 0700 11262 ELECTRONIC DISPLAY SIGN, FURNIS & INSTALL GROUND MOUNT- SOLAR POWERED, SPEED FEEDBACK W/FLASHING BEACON, 12-20 SF		14,488.00000	14,488.00				
0855 0700 11391 ELECTRONIC DISPLAY SIGN, FURNIS & INSTALL OVERHEAD MOUNT- AC POWERED, BLANK OUT SIGN, UP TO SF		6,844.00000	6,844.00				
0860 0700 12 11 SIGN BEACON, F&I GROUND MOUNT AC POWERED, ONE BEACON	5.000 - AS	3,490.00000	17,450.00				
0865 0700 12 12 SIGN BEACON, F&I GROUND MOUNT AC POWERED, TWO BEACONS	5.000 - AS	4,391.00000	21,955.00				
0870 0700 12 21 SIGN BEACON, F&I GROUND MOUNT SOLAR POWERED, ONE BEACON	5.000 - AS	5,656.00000	28,280.00				
0875 0700 12 22 SIGN BEACON, F&I GROUND MOUNT SOLAR POWERED, TWO BEACONS	5.000 - AS	6,368.00000	31,840.00				
0880 0700 12 50 SIGN BEACON, RELOCATE BEACON- SIGN TO REMAIN	2.000 AS	891.00000	1,782.00				
0885 0700 12 60 SIGN BEACON, REMOVE BEACON- SIGN TO REMAIN	2.000 AS	891.00000	1,782.00				



Tabulation of Bids

Page 25 of 30

Letting: 05211207 Dec	ember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TR	AFFIC CON	ITROL (MH					
0890 0705 10 1 OBJECT MARKER, TYPE 1	3.000 EA	223.00000	669.00				
0895 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR	100.000 EA	143.00000	14,300.00				
0900 0706 1 3 RAISED PAVEMENT MARKER, TYPE B	200.000 EA	6.50000	1,300.00				
0905 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3 SKIP, 6" WIDE	0.500 GM -9	768.00000	384.00				
0910 0710 11133 PAINTED PAVEMENT MARKING, STANDARD,WHITE, 3'-9' SKIP DROP LINE AND APPROACH TO TOLL PLAZA 12" WIDE,	0.500 GM	4,471.00000	2,235.50				
0915 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSION 6"	0.500 GM	516.00000	258.00				
0920 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"	0.500 GM	768.00000	384.00				
0925 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NOSE	100.000 SF	8.80000	880.00				



Tabulation of Bids

Page 26 of 30

Letting: 052	211207 Dec	ember 07,	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (TF		ITROL (MH					
0930 0711 11102 THERMOPLASTIC, STA SOLID, 8" FOR INTERO URBAN ISLAND		0.250 , GM	11,535.00000	2,883.75				
0935 0711 11123 THERMOPLASTIC, STA SOLID, 12" FOR CROS ROUNDABOUT		800.000 , LF	5.20000	4,160.00				
0940 0711 11124 THERMOPLASTIC, STA SOLID, 18" FOR DIAGC CHEVRONS		800.000 , LF	6.75000	5,400.00				
0945 0711 11125 THERMOPLASTIC, STA SOLID, 24" FOR STOP CROSSWALK		600.000 , LF	9.25000	5,550.00				
0950 0711 11141 THERMOPLASTIC, STA 2-4 DOTTED GUIDELIN EXTENSION, 6"		0.500 , GM	7,704.00000	3,852.00				
0955 0711 11160 THERMOPLASTIC, STA MESSAGE OR SYMBO		8.000 , EA	359.00000	2,872.00				
0960 0711 11170 THERMOPLASTIC, STA ARROW	NDARD, WHITE	8.000 , EA	94.50000	756.00				
0965 0711 11180 THERMOPLASTIC, STA YIELD LINE	NDARD, WHITE	40.000 , LF	9.15000	366.00				



Tabulation of Bids

Page 27 of 30

Letting:	05211207 [December 07, 2	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Ite Item Descrip		Quantity Units	(1) TRAFFIC DEVICE					
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(TRAFFIC CON	TROL (MH					
	1224 TC, STANDARD, D, 18" FOR DIAGONA	450.000 LF IL	6.75000	3,037.50				
	TIC, STANDARD, OTTED GUIDE LINE /	1.000 GM /6-10	7,704.00000	7,704.00				
	4123 TIC, PREFORMED, 12" FOR CROSSWA	800.000 LF LK	13.50000	10,800.00				
	4125 TIC, PREFORMED, 24" FOR CROSSWA	600.000 LF LK	19.50000	11,700.00				
WHITE WITH BL	4560 TIC, PREFORMED, LACK CONTRAST ON VEMENT, MESSAGE		422.00000	2,110.00				
WHITE WITH BL	4570 TIC, PREFORMED, ACK CONTRAST, NCRETE SURFACE	5.000 EA	510.00000	2,550.00				
1000 0711 1 THERMOPLAST COLOR ROUTE	IC, PREFORMED, M	5.000 ULTI EA	6,419.00000	32,095.00				



Tabulation of Bids

Page 28 of 30

Letting: 05211207 Dece	ember 07, 1	2021 Ca l	l Order: 005		Contract:	E5V57-R0	
Line No / Item ID Alternate (Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TR/	AFFIC CON	ITROL (MH					
1005 0711 15101 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6"	0.500 GM	7,707.00000	3,853.50				
1010 0711 15131 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP	0.500 GM	7,707.00000	3,853.50				
1015 0711 15201 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"	0.500 GM	7,707.00000	3,853.50				
1020 0711 15231 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SKIP, 6"	0.500 GM	7,707.00000	3,853.50				
1025 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP	0.500 GM	7,707.00000	3,853.50				
1030 0711 16133 THERMOPLASTIC, STANDARD-OTHER SURFACES WHITE, SKIP, 12"- APPROACH TO TOLL PLAZA OR 3-9 LANE DROP	0.500 GM	4,280.00000	2,140.00				
1035 0711 16202 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 8"	0.250 GM	10,630.00000	2,657.50				



Tabulation of Bids

Page 29 of 30

Letting:	05211207	December 07,	2021 Ca	II Order: 005		Contract:	E5V57-R0	
Line No / Item Item Descriptic		e Quantity Units	(1) TRAFFIC DEVICE					
() indicates item	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(TRAFFIC CON	NTROL (MH					
1040 0711 17 THERMOPLASTIC THERMOPLASTIC MARKINGS- SURF	, REMOVE EXIST PAVEMENT		4.85000	485.00				
0001 TRAFFIC C	ONTROL (MH) S	ection Totals:		\$4,057,481.00				

Contract Grand Totals: \$4,057,481.00



Tabulation of Bids

Page 30 of 30

Letting:	05211207	December 07, 2021	Call Order:	005	Contract:	E5V57-R0
		120.57(3), Florida	Statutes, or fa hin the time a	ilure to po llowed for	ne prescribed in section st the bond or other security filing a bond shall constitute), Florida Statutes.	